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INSTRUCTIONS
1. This exam is out 0
2. This Examination
I: Multiple Choice Q
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10. Any aspect of cheating detected during and or after the exam administration will lead to
nullification of your exam

11. In case you have any questions call the Head of Department on

12. For adverse incidences please write an email to: amiu.examinations@amref.ac.ke

SECTION I: MULTIPLE CHOICE QUESTIONS (20 MARKYS)
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. The major mechanism of damage to cell membrane in ischaemia is:-
A. Reduced intracellular PH

B. Increased intracellular accumulation of sodium

C. Increased calcium ions in the cytosol

D. Reduced aerobic respiration

Diabetic foot is an example of:-

A. Dry gangrene
B. Wet gangrene
C. Gas gangrene
D. Necrotising inflammation

. The following is TRUE regarding metaplasi
A. Itis adisordered growth
B. It affects only epithelial tissue
C. Itisareversible ch

D. ltisan irreversible

In terms of content, tr

y be of the haemorrhagic type:-

infarct

t infarct
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. Graves disease is a type of:-

A. Type | hypersensitivity reaction
B. Type Il hypersensitivity reaction
C. Type Il hypersensitivity reaction
D. Type IV hypersensitivity reaction

. The type of oedema is characteristically dependent is:-

A. Nephrotic oedema
B. Nephritic oedema
C. Pulmonary oedema

D. Cardiac oedema

. The following are types of tissue macropha XC
A. Littoral cells
B. Hoffbauer cells
C. Osteoclasts

D. Osteoblasts

In atrophy the cells are:-
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11. The following cytokines are NOT mediators of inflammation :-
A. Interleukin 1 (IL-1)
B. Tumour Necrosis Factor a
C. Nitric Oxide
D. Interfon vy
12. Tumor cells are not recognized as foreign by the immune system because they lack:-

A. A specific antigen called tumor-associated antigen

B. Promoter signals on their cells
C. Signaling receptors
D. Cytokines within the cell

13. Apoptosis has the following features EXCEPT:-
A. There is cell shrinkage in apoptos

C. There may be single cel
D. Apoptosis is seen in pat

14. In Ischaemia, reperfusion
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16. The first line of defense that is initiated immediately upon injury is:-
A. Walling off the injured area
B. Tissue macrophage invasion
C. Neautrophil invasion of the inflammed area

D. Increased production of granulocytes and monocytes

17. The following processes occur when tissues heal by secondar

A. Occurs in injuries with loss of significant tissue
B. The process is fast with no scar formatio
C. Heals by granulation tissue proliferati
D. Reepithelialization occurs beginni
18. Enzymatic digestion is a characteristic of?
A. Coagulative necrosis
B. Liquefactive necrosi
C. Caseous necrosis
D. Fat necrosi

19. Necrosis is:-

A. Reversible
B. Lack of oxygen

reversible

mitosis
SiS

in steroid-hormone production
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SECTION Il : SHORT ANSWER QUESTIONS (30 MARKS)
1. Regarding gangrene

a. Define gangrene (1 Marks)
b. State three (3) types of gangrene (3 Marks)
With the use of examples, describe three (3) types of intracellular accumulations ( 6 Marks)

Describe the four (4 ) stages of hypovolemic shock (8 Marks)

Outline four ( 4) effects of tumours on the host.

Describe four ( 4) different types of exudates. ks)

S T

Contrast benign and malignant tumors

SECTION IlI: ESSAY QUESTIONS (20M

1. Explain the various cellular adaptations.

(2
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